

		<b>BID TABULATION</b>						<b>BIDDER NO. 1</b>		<b>BIDDER NO. 2</b>		<b>BIDDER NO. 3</b>	
		<b>Project No.: COH ID 18-10-10</b>											
		<b>Project Name: CDBG Sidewalk and Lighting Improvements Project 728122</b>											
Item No.	Specification Number	Description	Estimated Quantity	Unit of Measure	ENGINEER'S ESTIMATE		SOLID BRIDGE CONSTRUCTION		PALOMARES CONSTRUCTION		DIGG COMMERCIAL		
					Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1	01502	MOBILIZATION, INCLUDING PERFORMANCE AND PAYMENT BONDS, INSURANCE, AND PERMITS.	1	LS	\$11,000.00	\$ 11,000.00	\$ 3,900.00	\$ 3,900.00	\$41,500.00	\$ 41,500.00	\$ 75,000.00	\$ 75,000.00	
2	02221	CONCRETE SIDEWALK REMOVAL, INCLUDING DISPOSAL	433	SY	\$ 15.00	\$ 6,495.00	\$ 25.00	\$ 10,825.00	\$ 36.00	\$ 15,588.00	\$ 36.00	\$ 15,588.00	
3	02771	MONOLITHIC CURB AND GUTTER COMPLETE IN PLACE	546	LF	\$ 15.00	\$ 8,190.00	\$ 42.00	\$ 22,932.00	\$ 24.00	\$ 13,104.00	\$ 30.00	\$ 16,380.00	
4	02771	6" CONCRETE CURB COMPLETE IN PLACE	184	LF	\$ 11.00	\$ 2,024.00	\$ 30.00	\$ 5,520.00	\$ 9.00	\$ 1,656.00	\$ 26.00	\$ 4,784.00	
5	02775	CONCRETE SIDEWALK, STAMPED CONCRETE, HERRINGBONE BRICK PATTERN COMPLETE IN PLACE	500	SY	\$ 110.00	\$ 55,000.00	\$ 100.00	\$ 50,000.00	\$ 129.80	\$ 64,900.00	\$ 100.00	\$ 50,000.00	
6	02775	HANDICAP RAMP COMPLETE IN PLACE	8	EA	\$ 2,500.00	\$ 20,000.00	\$ 900.00	\$ 7,200.00	\$ 2,800.00	\$ 22,400.00	\$ 1,600.00	\$ 12,800.00	
7	02221	DRIVEWAY REMOVAL	255	SY	\$ 15.00	\$ 3,825.00	\$ 40.00	\$ 10,200.00	\$ 36.00	\$ 9,180.00	\$ 48.00	\$ 12,240.00	
8	02754	CONCRETE DRIVEWAY COMPLETE IN PLACE	255	SY	\$ 85.00	\$ 21,675.00	\$ 61.00	\$ 15,555.00	\$ 81.00	\$ 20,655.00	\$ 90.00	\$ 22,950.00	
9	DWGS	TRENCH DRAIN WITH GRATE	64	LF	\$ 565.00	\$ 36,160.00	\$ 50.00	\$ 3,200.00	\$ 101.50	\$ 6,496.00	\$ 350.00	\$ 22,400.00	
10	02767	CROSSWALK (THERMOPLASTIC PAVEMENT MARKINGS) COMPLETE IN PLACE	308	LF	\$ 1.00	\$ 308.00	\$ 20.00	\$ 6,160.00	\$ 9.50	\$ 2,926.00	\$ 10.00	\$ 3,080.00	
11	DWGS	CROSSWALK (PATTERN OPTION- HERRINGBONE) COMPLETE IN PLACE	1201	SF	\$ 20.00	\$ 24,020.00	\$ 15.00	\$ 18,015.00	\$ 20.00	\$ 24,020.00	\$ 5.00	\$ 6,005.00	
12	02767	4" WHITE PARKING STRIPING COMPLETE IN PLACE	606	LF	\$ 1.00	\$ 606.00	\$ 15.00	\$ 9,090.00	\$ 1.50	\$ 909.00	\$ 2.00	\$ 1,212.00	
13	02767	4" YELLOW STRIPING COMPLETE IN PLACE	68	LF	\$ 1.00	\$ 68.00	\$ 20.00	\$ 1,360.00	\$ 1.50	\$ 102.00	\$ 3.30	\$ 224.40	

		<b>BID TABULATION</b>						<b>BIDDER NO. 1</b>		<b>BIDDER NO. 2</b>		<b>BIDDER NO. 3</b>	
		<b>Project No.: COH ID 18-10-10</b>											
		<b>Project Name: CDBG Sidewalk and Lighting Improvements Project 728122</b>											
Item No.	Specification Number	Description	Estimated Quantity	Unit of Measure	ENGINEER'S ESTIMATE		SOLID BRIDGE CONSTRUCTION		PALOMARES CONSTRUCTION		DIGG COMMERCIAL		
					Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
14	02762	REMOVE 4" WHITE STRIPE	437	LF	\$ 1.00	\$ 437.00	\$ 8.00	\$ 3,496.00	\$ 3.00	\$ 1,311.00	\$ 1.25	\$ 546.25	
15	02762	REMOVE 4" YELLOW STRIPE	257	LF	\$ 1.00	\$ 257.00	\$ 10.00	\$ 2,570.00	\$ 3.00	\$ 771.00	\$ 1.40	\$ 359.80	
16	02762	REMOVE 12" WHITE STRIPE	242	LF	\$ 1.00	\$ 242.00	\$ 10.00	\$ 2,420.00	\$ 4.00	\$ 968.00	\$ 2.00	\$ 484.00	
17	TXDOT 0416	FND DRILL SHAFT (30 IN) COMPLETE IN PLACE	60	LF	\$ 220.00	\$ 13,200.00	\$ 125.00	\$ 7,500.00	\$ 95.00	\$ 5,700.00	\$ 180.00	\$ 10,800.00	
18	TXDOT 0618	CONDUIT (PVC) (SCH 40) (2") COMPLETE IN PLACE	790	LF	\$ 8.00	\$ 6,320.00	\$ 8.00	\$ 6,320.00	\$ 2.00	\$ 1,580.00	\$ 30.00	\$ 23,700.00	
19	TXDOT 0618	CONDUIT (PVC) (SCH 80) (2")(BORE) COMPLETE IN PLACE	60	LF	\$ 20.00	\$ 1,200.00	\$ 50.00	\$ 3,000.00	\$ 73.75	\$ 4,425.00	\$ 90.00	\$ 5,400.00	
20	TXDOT 0618	CONDUIT (PVC) (SCH 40) (3") COMPLETE IN PLACE	15	LF	\$ 12.00	\$ 180.00	\$ 50.00	\$ 750.00	\$ 60.00	\$ 900.00	\$ 64.00	\$ 960.00	
21	TXDOT 0618	CONDUIT (PVC) (SCH 80) (3") COMPLETE IN PLACE	30	LF	\$ 15.00	\$ 450.00	\$ 40.00	\$ 1,200.00	\$ 39.00	\$ 1,170.00	\$ 50.00	\$ 1,500.00	
22	TXDOT 0618	CONDUIT (PVC) (SCH 40) (3") FUTURE USE COMPLETE IN PLACE	390	LF	\$ 12.00	\$ 4,680.00	\$ 10.00	\$ 3,900.00	\$ 6.00	\$ 2,340.00	\$ 30.00	\$ 11,700.00	
23	TXDOT 0618	CONDUIT (PVC) (SCH 40) (4") FUTURE USE COMPLETE IN PLACE	210	LF	\$ 15.00	\$ 3,150.00	\$ 12.00	\$ 2,520.00	\$ 10.00	\$ 2,100.00	\$ 33.00	\$ 6,930.00	
24	TXDOT 0620	ELECTRICAL CONDUCTOR (NO.8) INSULATED COMPLETE IN PLACE	4575	LF	\$ 2.00	\$ 9,150.00	\$ 1.00	\$ 4,575.00	\$ 0.60	\$ 2,745.00	\$ 4.00	\$ 18,300.00	
25	TXDOT 0624	12X23X11 GND BOX W/APRON COMPLETE IN PLACE	3	EA	\$ 700.00	\$ 2,100.00	\$ 350.00	\$ 1,050.00	\$ 309.00	\$ 927.00	\$ 1,200.00	\$ 3,600.00	
26	TXDOT 0624	12X23X11 GND BOX W/APRON, FUTURE USE COMPLETE IN PLACE	4	EA	\$ 700.00	\$ 2,800.00	\$ 350.00	\$ 1,400.00	\$ 378.00	\$ 1,512.00	\$ 1,200.00	\$ 4,800.00	

		<b>BID TABULATION</b>				<b>BIDDER NO. 1</b>		<b>BIDDER NO. 2</b>		<b>BIDDER NO. 3</b>		
		<b>Project No.: COH ID 18-10-10</b>										
		<b>Project Name: CDBG Sidewalk and Lighting Improvements Project 728122</b>										
Item No.	Specification Number	Description	Estimated Quantity	Unit of Measure	ENGINEER'S ESTIMATE		SOLID BRIDGE CONSTRUCTION		PALOMARES CONSTRUCTION		DIGG COMMERCIAL	
					Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
27	TXDOT 0628	120/240 SINGLE PHASE ELECTRICAL SERVICE COMPLETE IN PLACE	1	EA	\$ 4,000.00	\$ 4,000.00	\$ 21,500.00	\$ 21,500.00	\$ 3,750.00	\$ 3,750.00	\$ 9,900.00	\$ 9,900.00
28	DWGS	REMOVE AND RELOCATE DECORATIVE LIGHTING POLE REPLACE WITH LED LIGHT FIXTURE COMPLETE IN PLACE	1	EA	\$ 4,800.00	\$ 4,800.00	\$ 2,500.00	\$ 2,500.00	\$ 1,620.00	\$ 1,620.00	\$ 6,000.00	\$ 6,000.00
29	DWGS	INSTALL DECORATIVE LIGHTING POLE WITH LIGHT FIXTURE (LED) COMPLETE IN PLACE	9	EA	\$ 4,800.00	\$ 43,200.00	\$ 3,800.00	\$ 34,200.00	\$ 3,850.00	\$ 34,650.00	\$ 6,500.00	\$ 58,500.00
30	TXDOT 0618	EXISTING POWER CIRCUIT MODIFICATION/ELECTRICAL CONDUCTOR	1200	LF	\$ 2.00	\$ 2,400.00	\$ 1.50	\$ 1,800.00	\$ 5.75	\$ 6,900.00	\$ 22.00	\$ 26,400.00
31	DWGS	TRAFFIC CONTROL (VEHICULAR AND PEDESTRIAN), INCLUDING BUT NOT LIMITED TO SIGNAGE, CONTROL DEVICES, PAVING, ETC.	1	LS	\$ 7,500.00	\$ 7,500.00	\$ 5,500.00	\$ 5,500.00	\$11,800.00	\$ 11,800.00	\$ 14,000.00	\$ 14,000.00
32	DWGS	SWPPP	1	LS	\$ 3,500.00	\$ 3,500.00	\$ 1,500.00	\$ 1,500.00	\$ 4,500.00	\$ 4,500.00	\$ 5,000.00	\$ 5,000.00
33	02921, 02922	SITE RESTORATION INCLUDING SOD ALL DISTRUBED AREAS COMPLETE IN PLACE	1	LS	\$30,000.00	\$ 30,000.00	\$ 7,500.00	\$ 7,500.00	\$ 6,400.00	\$ 6,400.00	\$ 14,000.00	\$ 14,000.00
34	DWGS	TRIM AND/OR REMOVE BRUSHES, TREES, ENCROACHMENTS ON SIDEWALKS TO MEET TAS MINIMUM STANDARDS FOR CLEARANCE	1	LS	\$ 5,000.00	\$ 5,000.00	\$ 800.00	\$ 800.00	\$ 4,000.00	\$ 4,000.00	\$ 5,000.00	\$ 5,000.00
<b>BASE BID TOTAL</b>					<b>\$</b>	<b>333,937.00</b>	<b>\$</b>	<b>279,958.00</b>	<b>\$</b>	<b>323,505.00</b>	<b>\$</b>	<b>470,543.45</b>
											Listed on Bid Form	<b>\$ 486,131.45</b>

		<b>BID TABULATION</b> Project No.: COH ID 18-10-10 Project Name: CDBG Sidewalk and Lighting Improvements Project 728122					<b>BIDDER NO. 1</b>		<b>BIDDER NO. 2</b>		<b>BIDDER NO. 3</b>	
Item No.	Specification Number	Description	Estimated Quantity	Unit of Measure	ENGINEER'S ESTIMATE		SOLID BRIDGE CONSTRUCTION		PALOMARES CONSTRUCTION		DIGG COMMERCIAL	
					Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
<b>ALTERNATES</b>					ENGINEER'S ESTIMATE		SOLID BRIDGE CONSTRUCTION		PALOMARES CONSTRUCTION		DIGG COMMERCIAL	
1	02775	CONCRETE SIDEWALK, STAMPED CONCRETE, HERRINGBONE BRICK PATTERN	-500	SY	\$ 110.00	\$ (55,000.00)	\$ 100.00	\$ (50,000.00)	\$ 120.80	\$ (60,400.00)	\$ 100.00	\$ (50,000.00)
2	02775	BRICK SIDEWALK, HERRINGBONE PATTERN COMPLETE IN PLACE	500	SY	\$ 185.00	\$ 92,500.00	\$ 175.00	\$ 87,500.00	\$ 184.00	\$ 92,000.00	\$ 130.00	\$ 65,000.00
<b>ALTERNATE TOTAL</b>					<b>\$ 37,500.00</b>		<b>\$ 37,500.00</b>		<b>\$ 31,600.00</b>		<b>\$ 15,000.00</b>	

TOTAL PROJECT (figures)			
<b>BASE BID WITH ALTERNATE TOTAL</b>			
<b>\$</b>	<b>371,437.00</b>	<b>\$</b>	<b>317,458.00</b>
<b>\$</b>	<b>355,105.00</b>	<b>\$</b>	<b>485,543.45</b>
			Listed on Bid Form <b>\$ 501,131.45</b>

I hereby certify that the bid tabulations contained herein were prepared by me and under my direct supervision. The individual contractor's Unit Bid Prices and Bid Amounts are the actual amounts placed on the Bid Sheet for the bidding process. Any discrepancies in the Unit Bid Price and Bid Amounts are noted above.

Signed, Sealed and dated this 27th day of April year 2020.

By:



Printed Name: Kyle A. Bertrand, P.E.